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737790 529 stated; she has nyaN '7 — PIAR T 7Y WS MR a7 92N

OVERVIEW

1M M ruled that a 7P can be 7P through mnk "7 7°3p. The implication of
this ruling seems to contradict another statement of *"3. Our Moo will
reconcile the two statements of >"'1.

nooIn asks:
— V)2 MNINX 7T P TVY NN Z\DMQ N8N ‘]’5"1 owvn Pron lm‘pb‘l N

It is astounding! for later the X concludes that a 7ivp has MnR '7
regarding 7X°¥n, since we derive the laws of 18vx% from the laws of wa. It is

therefore evident that the nyaR '7 1917 is applicable by 2, but this is not so -
— 31)1'\1’ 929 GNP (13N 239 Hrnnnn N7 oY 3,0y 9790 PIIIND P92

For in P91 P9p, this same >''1 rules that if he threw the 3 and it landed -
— 1) M1 199V NDIN NNPNR ANN 1DON 1Y 29D

closer to her (than to him), even if it was a hundred nR away from her,

but if she can guard it, it is a valid wa. It is evident that there is no need for '7
nny, all that is required is that she be able to guard the vi. Why do we say here that there
is a v32 MMR '7 1°3P (and therefore by X ¥M as well)?!4

mooIn answers that by 03 there are two laws :
— *NWI 1193 MAYY 9199 1959N NYY MINAN 131 915 Y

And one can say; that if the v landed within her nmR ' she is divorced

even if he can guard it as good as she can -
%1999 82N Y9INY 7598 NN /1Y I

However if the vi landed outside her nyaX ' (but closer to her), then it is

necessary that she should be able to guard it solely, but he should not be able
to guard it. We derive n¥x '7 by ax°¥n from mnX '7 by v3 (not from the ax 7xn).’

" On the (very) top of X,X.

% See later (on this Tny) that we derive from the (X,75 [R¥n] 0°727) 2109 of 177°2 11 that a 7vp has a 7¥n
(regarding receiving her v3) and by extension she also has nX '7 1°1p by 03 (and also by X*¥n).

39" was explaining the mwn there (X,nv) which states, 12 217 ,nwan 72 219P oK L7172 PN 2"572 DTAW A0
DWW AR DWINA %0 DY X ,Nwan K. According to °"9 the mwn means if she (alone) can guard the
03 she is Nw (even if it is AnX XM away from her); if he (alone) can guard the v3, she is not nww; if
they both can guard the v3 she is nw2» poo.

* There is obviously no rule of X 7X» by Ax*3» (even) if (only) one person can guard it. See “Thinking it
over’ # 3.

5 She would, however, have to be the first to enter into these NMX "7 where the v landed. The husband
cannot be within the nR "7 of the vi [before her]. (See n"n2).

® The rule of nmx '7 is different from (and independent of) the rule of (7R 78») 72 217p.

7 See ‘Thinking it over’ # 2.
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SUMMARY

The rule of 7137 NKk "7 by vi is (even) if both the husband and the wife can
equally guard the v3; the rule of 7% 217p (by 7K n¥n) is only is she alone can
guard the v (but he cannot).

THINKING IT OVER
1. What ruling changed (in this mM501n) from what we thought in the question
to how we understand it in the answer?®

2. Why is it that by w3 there is a 77 of naX '7 and a P7 of K 7x»,” but by
X %1 there 1s only a 7°7 of NX '7 but there is no 77 of 7K axn 2110

3. mpoIn asks that there is a "7 of 72X ARM by A (not MK '7), so how do we
derive nmx '7 by nx*¥n from v3.!' Seemingly one can answer that by v we
know there is a 7% 17, and we derive the 7¥1 17 by AX°¥n from 3. Therefore
we apply the 7% 1°7 in each case as appropriate; by v the 1127 were X7 JPnn
7R (because of X1y) and by nX°x¥n they were mnXk '7 1pnn (because of R
MIRY °n°Y). All we are deriving from v3 is just as there is %17 by 03 (and by
extension whatever the 7127 deem appropriate to include) the same is by
ax°¥n. What is 19010 question?!'

¥ See mymw Pan.

? See footnote # 7.

19 See (mam a"12) n"m.

' See footnote # 4.

12 See 0"wn9x and p MR 7"O0.
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